S&Ss\ouﬂ
(qs\- B+ ¥ (L) sobobion Yo S SE, We S, Mo Er. 3,020

X ()
e /l wA Ll’ X
é_wa ( = 4("7“ }AI (& ) % \:
R%m\is
lw(\‘\‘e\\ = l (V (F\\ = lQo(\»)\z= \Q:\“Y Q‘,l‘f)\z | So el i ‘\\«o\qwd&al From

C\Aﬁ\cz c& ’é: 0 ov X=O
* QJqu\wX{\ov\ \m\w t& QSY\M‘;\Q \‘\r. \MoV\Aw\—M:
E= o [%pde = § Qo ¢ &ulpde = § T 60 Yeodx

= ¢ .(._)—? U({) w\m& —?= “\VX \s QQH‘LD\ "\MO\MQM\-VM b\em\-o\'h

:DN\ S\S\Qj«%\’ \;\QWYO\\A\ :

QO\&S\A.QA‘ \M&(.YOSQQ\Y\L Sc.&[l& _i_Sl E‘ S‘ow gwm.u €

=> 19, ({x)= A Y, (A



Mok vecall ek i ST viks YU SE is ), W)= -% A, W) ( So -(;bmq(ll(

T T A PP PO £ (W‘Airl« \m?(e OKL&A Consvler aH—\\on\n W oica P\w\(:lcal

£50 ‘-0

Qou&\qu\')
(/Q""V'“& _3 L A l(\ARM Say § \\M\X( L( (\\X]: Q’l{% Q \K) + a-g‘z Y(k }g)
¢ - S C— 5

::.Y,;u-\\t) N
i el £ S v X\ dy

= (lelitdy =3 0

A 2
i.q..‘ \“(o (\e)l [ \'\AJL as\(u«‘)\\\‘\g wowdutin A‘\&\-\:\\ov\-‘lo\l\ as £50

A Wow *\\-'-C\ Commeclyon \"0 VQ,\o(\\-\(:

2
|

CoV\S}A-Q/( \(\ML YW\M\\Q\\;\\\( M.;\LY Q\( H:.\A’-'— \W(“r\X)

=> 9,0, = 9, Ikt "= 1 {10, Wikod) Ylhod = Fyoo) (10, ¥e0)

= L Th%hw) Wod - & Wi (HAtiw)

itz

=- \w\ W (o) (AW\\«\)

--V \Cﬂ\,\ (Vi) ((Smee VY 7§ eTR)

/)

=: k\( W= vt

=> 9{@\, + V'&( =0 l Qow\‘\\.\v‘\\\( Qtj(w\‘\w (/VDS«'. ul;o \mus ~\K \):Vf— - %\\/-\ VY wdu V(x\élR)



